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HEH : 9/28
(AW db u S vih)

FEraE 1 1-1:0.075, 1-2:0.057, 1-3:0.061
B 2 2-1:0.095, 2-2:0.104, 2-3:0.108
FEr= 3 3-1:0.092, 3-2:0.098, 3-3:0.090
FEBRE 4 4-1:0.074, 4-2:0.084, 4-3:0.081
B 5 5-1:0.093, 5-2:0.094, 5-3:0.094
FERE 6 6-1:0.088, 6-2:0.084, 6-3:0.092
B 7 7-1:0.071, 7-2:0.067, 7-3:0.075
FEraE 8 8-1:0.070, 8-2:0.070

FErEE 9 9-1:0.067, 9-2:0.087

FBREE 10 10-1: 0.084, 10-2:0.088

FEBREE 11 11-1: 0.098, 11-2:0.094, 11-3:0.090

FER=E 12 12-1:0.070, 12-2:0.071, 12-3:0.074

FHR== 13 13-1:0.081, 13-2:0.080, 13-3:0.077

FER=E 14 14-1:0.088, 14-2:0.082, 14-3:0.077

FBraE 15 15-1: 0.067, 15-2:0.077, 15-3:0.081

FHR=% 16 16-1: 0.081, 16-2:0.081, 16-3:0.090

FEHR=R 17 17-1:0.098, 17-2:0.092, 17-3:0.090

FEhR= 18 18-1:0.092, 18-2:0.090, 18-3:0.094, 18-4:0.090, 18-5:0.111,
18-6: 0.112, 18-7: 0.100
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